M5 BIIEFLEEFORRERE (FFREH)

R30I/ KRB
DJ R _(FEX#R[64])
HB| BBFEFL | BB)FIEKIH = EXY0 |EXFOLf
KEATS)RE| EE(ATO)ER A) (FAZ<EMD | UHRKERE
EXEL =2Xx+0 BEEEXXO (B) (A/B)
JtimE R E #E 2,317.2 86.0 2,403.2 2,403.2 100%
R BAIREHKE 6, 080. 4 174.0 6, 254. 4 6, 254. 4 100%
RiBREKE 1,429. 4 1,429.4 1,429.4 100%
78 B AR #E 4,187.0 8.5 4,195.5 4,195.5 100%
7o ] e & 8508 855. 2 855. 2 855. 2 100%
A HRE EXE 1,984. 1 1,984. 1 1,984. 1 100%
=Ll 16, 853. 3 268. 5 17,121.8 17,121.8 100%
@J R (FERI54])
HB| BBFEFL | BBFIEHIH = EEXY0 |[EXFOoLf
KEATS)RE| EE(ATO)ER A) (FAZ<EMD | UHRKERE
EXED HE¥E0 EEXSO (B) (A/B)
JtimE R E #E 148.8 148. 8 148.8 100%
R B AIRE#HE 1,194.2 1,194.2 1,194.2 100%
RiBREKE 552. 6 552. 6 552. 6 100%
78 B AR #E 812.6 812.6 812.6 100%
A HRE EE 288.9 288.9 288.9 100%
=Ll 2,997. 1 2,997.1 2,997. 1 100%
QARFR#HK[154#]
HB| BBFEFL | BB5IEKIEH = EX¥0 |[EXFOLf
KEATS)RE| EE(ATOER A) (FAZ<EMD) | UHRKERE
EXEL HE¥E0 BEEXSO (B) (A/B)
RER#KE 399. 3 64.0 463. 3 463. 3 100%
7R K E 174.0 2.6 176. 6 176. 6 100%
R E ik 100. 3 100. 3 100. 3 100%
REEH 84.7 84.7 84.7 100%
INEBEHK 120.5 120.5 120.5 100%
RRATEH 16.5 80. 0 96. 5 96. 5 100%
ERITER 87.0 87.0 87.0 100%
IR EKE 35.9 35.9 35.9 100%
& HE%E 431.7 431.7 437.7 100%
L8 B A SKE 479.0 10. 2 489. 2 489. 2 100%
8RR EE 145. 1 145. 1 145. 1 100%
RBRE R EKE 66. 1 66. 1 66. 1 100%
PR 2 E 8k 140. 8 140. 8 140. 8 100%
B 4 B X %8 40. 1 40. 1 40. 1 100%
78 B A #hE 106. 1 106. 1 106. 1 100%
=Ll 2,348. 4 241.5 2,589.9 2,589.9 100%
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@REMTHE [1 04t]

HH| B#SIEEL | B2 EHIE = =2XXD  [EXFO4f
EEATS)HE| EE(ATO) A) (FIZ<EM) | YREX

EXEL HE¥E0 BEEXSO (B) (A/B)
LR 48.0 48.0 48.0 100%
& 28.7 28.7 28.7 100%
R 18.3 98. 1 116. 4 116. 4 100%
RR T % 195. 1 195. 1 195. 1 100%
iR 53.4 53.4 53.4 100%
BEEM 92.5 92.5 92.5 100%
=T 31.2 31.2 31.2 100%
PN 137.8 137.8 137. 8 100%
il 30.6 30.6 30.6 100%
TR 29.8 29.8 29.8 100%
= 18.3 745.2 763. 5 763.5 100%
* REBRER. ARTREBEHFREZESC
Odf/hES% [1 3 04t]

IHE | BESIEZIL | BB 5 E R = EX¥X0  [EXFOS

KEATSEE| FE(ATOR (A) (FAZ<RRE) | YEER

EXED 2Ex0 EEEEO (B) (A/B)
ERLE Y UHE 37.8 37.8 37.8 100%
shFEkE 30.7 30.7 30.7 100%
AR 121.9 121.9 121.9 100%
IGRULVH TR #%IE 82.0 82.0 82.0 100%
=ik 107. 6 107. 6 107. 6 100%
& 2B iiE 1.1 7.1 7.1 100%
FIEKREAT 54.9 54.9 54.9 100%
BEXE 9.2 9.2 9.2 100%
REHE 57.4 57.4 57. 4 100%
FXEE A B B $50E 94.2 94.2 94. 2 100%
BFER%E 23.0 23.0 23.0 100%
Wiz 88 30.5 30.5 30.5 100%
LRI 59.5 59.5 59. 5 100%
AHT hXHEHE 97.0 97.0 97.0 100%
REEHK 33.2 33.2 33.2 100%
L D#%iE 102. 4 102. 4 102. 4 100%
+HREH 11.6 11.6 11.6 100%
7ILEIXE 14.4 14.4 14.4 100%
= Wit 75 a8 93.2 93.2 93.2 100%
GESS 4.9 4.9 4.9 100%
AR EBIR S #5:8 20. 1 20. 1 20. 1 100%
EWSA L= 6.5 6.5 6.5 100%
HLOEEOFEHKE 100. 1 100. 1 100. 1 100%
JeREgkE 20.6 20.6 20. 6 100%
IRL L ivhkE 17.8 17.8 17.8 100%
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CEIEEHEEAEEEELIE - EEETIREESTEELS
KEATSE| FE(ATOR (A) (FAZ<RRE) | YHER

EEES =F Tan BEzrn (B) (A/B)
MR E 26.5 26.5 26.5 100%
U f=bahiERES%E 14. 3 14. 3 14.3 100%
AR E 55.6 55.6 55.6 100%
B $%E 41.9 41.9 41.9 100%
FA%E 30.7 30.7 30.7 100%
Hhi-o XA #EE 441 441 441 100%
HEEH 33.7 33.7 33.7 100%
LEERHKE 25.4 25.4 25.4 100%
BREKE 1.7 1.7 1.7 100%
TRk 5.7 5.7 5.7 100%
INETRE 16. 4 16. 4 16. 4 100%
b #askE 19. 8 19. 8 19.8 100%
WT HE5E 26.8 26.8 26.8 100%
ZILgkE 2.2 2.2 2.2 100%
HESRKE 16. 2 16. 2 16. 2 100%
T/ BEH% 10.0 10.0 10.0 100%
ABIBEILEKE 15.0 15.0 15.0 100%
ELTa1T 26.9 26.9 26.9 100%
BESRKE 14.6 14.6 14.6 100%
RREEE SRS 12.2 12.2 12.2 100%
BHEBEHAMTE 58.3 58.3 58.3 100%
fE BEREHE 53.0 53.0 53.0 100%
FE=-2 -2 UHE 12.5 12.5 12.5 100%
B ZE B R E 17.9 17.9 17.9 100%
RESERHKET 7 X 10.7 10. 7 10.7 100%
EESRERGKE 1.5 1.5 1.5 100%
FER21T 45.7 45.7 45.7 100%
FEFREEGE 29.4 29.4 29.4 100%
EREE 9.2 9.2 9.2 100%
E5 M 8% & 11.0 11.0 11.0 100%
RF)NEE 65.0 65.0 65.0 100%
=N 8% E 17.8 17.8 17.8 100%
KEEAHEKE 67.7 67.7 67.7 100%
2E&%E 18.0 18.0 18.0 100%
EHIRINEKE 45.3 45.3 45.3 100%
LEREERLR 3.1 3.1 3.1 100%
L2 HERESRKE 15.2 15.2 15.2 100%
o 2 [ S 2 S 4 5 4.2 4.2 4.2 100%
= I $% & 48.0 48.0 48.0 100%
mE T 7.0 7.0 7.0 100%
FEEE 22.3 22.3 22.3 100%
B REkE 34.5 34.5 34.5 100%
G PSIESSE 25.1 25.1 25.1 100%
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CEIEEHEEAEEEELIE - EEETIREESTEELS
KEATSE| FE(ATOR (A) (FAZ<RRE) | YHER

EEES =F Tan BEzrn (B) (A/B)
EBRIIgE 66. 1 66. 1 66. 1 100%
BEHG&E 18.1 18.1 18.1 100%
AbHFASKE 53.0 53.0 53.0 100%
FEh 16.6 16. 6 16. 6 100%
BRI TS 57.5 57.5 57.5 100%
IFEFEREKE 63.2 63.2 63. 2 100%
mEEH 69. 2 69. 2 69. 2 100%
T XREITER 5.9 5.9 5.9 100%
HPE ER%E 7.6 1.5 15.1 15.1 100%
Rt EER#KE 14. 3 14. 3 14.3 100%
BeVE N 14.8 14.8 14.8 100%
VT EkE 59.5 59.5 59.5 100%
KRk E 5.5 5.5 5.5 100%
ALE & 14.4 14.4 14.4 100%
irgs o d8%E 114.0 114.0 114.0 100%
BEM 14.7 14.7 14.7 100%
eI 2.0 2.0 2.0 100%
RE P = R 88 12.5 12.5 12.5 100%
BT E R 6.9 6.9 6.9 100%
S RARSENE 8.6 8.6 8.6 100%
MILEE 14. 3 14. 3 14.3 100%
KRS K S 9.2 9.2 9.2 100%
2 BEEikE 3.0 3.0 3.0 100%
78 AR = R ik 3.8 3.8 3.8 100%
L& 85E (BR) 13.6 13.6 13.6 100%
—fHEE 42.2 42.2 42.2 100%
LEEH% 16. 1 16. 1 16. 1 100%
KEEGEIKE 10. 4 10. 4 10. 4 100%
£RI18%E 32.17 32.17 32.17 100%
3 P T 2.7 2.7 2.7 100%
J\BEHT 16.5 16.5 16.5 100%
EEAT 56. 1 56. 1 56. 1 100%
HIREKE 38.3 38.3 38.3 100%
ENETEH 60.0 60.0 60.0 100%
Bl 3t 2 o 8.5 8.5 8.5 100%
FFEE 33.9 33.9 33.9 100%
TESALBHKE 109. 3 109. 3 109. 3 100%
REERE 16.0 16.0 16. 0 100%
S 2.1 2.1 2.1 100%
ERE%E 43.2 43.2 43.2 100%
REERERHE 13.1 13.1 13.1 100%
HAREE 13.7 13.7 13.7 100%
A BT ER 5% B 17.17 17.17 17.7 100%




CEIEEHEEAEEEELIE - EEETIREESTEELS
KEATSE| FE(ATOR (A) (FAZ<RRE) | YHER

EEES =F Tan BEzrn (B) (A/B)
WHSE 93.8 93.8 93.8 100%
ERAS #RE 49.2 49.2 49.2 100%
<EIIKE 24.8 24.8 24.8 100%
BiEENA C#E 116.9 116.9 116.9 100%
BRRERE/L—IL 17.8 17.8 17.8 100%
MEE/ L—IL 6.6 6.6 6.6 100%
FEHTE/ L—IL 15.2 15.2 15.2 100%
ZEATE/ L—IL 16.0 16.0 16.0 100%
gBRYI—F T4 5.0 5.0 5.0 100%
TSRS S 28.0 28.0 28.0 100%
Je AN S ek E 8.8 8.8 8.8 100%
HEEETHE/ L—IL 12.9 12.9 12.9 100%
1] 4.1 4.1 4.1 100%
BEHEHRE 12.7 12.17 12.7 100%
HEEHFATRE 10.6 10.6 10.6 100%
(O T ) 14.7 14.7 14.7 100%
BHEEXE 8.9 8.9 8.9 100%
HEHRAE 15.3 15.3 15.3 100%
LEEEXE 18. 4 18. 4 18. 4 100%
=E 3,757.1 306.0 4 063.7 4,063.7 100%
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